Penthouse in Fgura



Fgura, South



€375,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 105

Reference No: 240271011-460

Bedrooms: 2

Penthouse - For Sale - Fgura

FGURA - PENTHOUSE - Located in a quiet residential area comes this Squarish layout Penthouse. This property consists of an open plan Kitchen/living/dining leading to a large front terrace, main bathroom, and two double bedrooms master with an en-suite and a terrace. Complimenting this property is a full roof and airspace, enjoying distance views. This Penthouse is going to be offered highly finished exc bathrooms and doors and Freehold

Features

- Ceramic Floor
- Skirting
- ✓ Air Space

- En Suite
- Terrace

Rooms

- ✓ Kitchen/Living/Dining: 6.1 x 5.8 m (35.38 m2)
- Double Bedroom: 3.1 x 3.1 m (9.61 m2)
- ✓ Double Bedroom : 3.2 x 3.8 m (12.16 m2)
- ✓ Bathroom Ensuite : 1.5 x 2.5 m (3.75 m2)
- ✓ Bathroom : 1.1 x 2.8 m (3.08 m2)
- Open Space : 4 x 9 m (36 m2)
- Open Space : 1.1 x 5.1 m (5.61 m2)

Gallery















Dean Camilleri RE/MAX South - Marsascala

M: 99838181

E: dean@remax.com.mt

T: 21555000

RE/MAX South - Marsascala

53, Triq is-Salini, Marsascala, Malta